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Focus Question
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What does sol img an equation tell me about a graph?
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| /1thout agraphing. tell ey eryvthing vou know about the following functions

a. f(x) -(x +1)4 -3 b. g(x) 2|x — 3| + 4
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<. DO0lve each of the following
a. |x| =5  box2=9. e lx — 6] = 2
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1. Solve

b. -2lx—=3|4+4=0
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Relationship between Solutions to Equations and Graphs
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3. What do you notice about your answers 10 #1 and #27
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[he following terms all refer to the same idea

Solve the function \ intercepts Solutions /eros Roots

and ind the solutions In the process of finding the

tion equal to zero.
l"“ solutions. These solutions 4l

» the
ver which 18 what causes mul C

o solve a function. you set the Tund
solutions. Vvou take some root a1 the num

or vy, equal to zero)

secause remember you Sel (X ).

x-intercepts when the function 1s oraphed

4. Solve O0=(x+1) | 5. Graph f(x)=(x+1) — 4
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d other values beside f{x) = 0 by replacing f(x) with the given value.

a. Use the graph above to find fix)=15 b. Solve the equation (x + 1)* - 4=>5
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6. Solving for a value. You can f1n
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7 Solve each of the following and explain why the answer makes sense based on the equation had 1t been\_ _—
graphed.
a. (x+2)%+9 f e —lx—4l-8=-5 / d —3x%+ 12 %0
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